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1. (d)

So, no conclusion follows.

2. (b)56885 – 11377
56885

5
=

11377

7 4 2 3 5 –

14847
74235

5
=14847

82695 –

16539
82695

5
=16539

But, 38515 –7701
38515

5
=

7703   7701

3. (b) T M F Y–7 –7 –7 –7 R

R M H C–5 X

A R I Z–9 –9 –9 –9 Q

P E T I–11 –11 X

–5 –5 –5

4. (c) 9 B 2 A 3 C 8 D 3

 9 × 2 ÷ 3 + 8 – 3

 18 ÷ 3 + 8 – 3

 6 + 8 – 3 = 11

5. (a) Hexagon has six sides.
Similarly, a Rectangle has four
sides.

6. (d)   Rinku   Mother   (lady)

Son   Sister

 Sister's mother is wife of
Rinku.

7. (a) K  L I  O
11 12 9 15

+1 –3 +6

R  S P  T
18 19 16 20

+1 –3 +4

V  W T  X
22 23 20 24

+1 –3 +4

H  I F  J
8 9 6 10

+1 –3 +4

8. (b)

9. (c)

10. (a) P   M

R   O

+2 +2

Similarly, B   C

D   E

+2 +2

11. (d)10 × 8 ÷ 6 – 2 + 4

Interchanging ÷ and –, 4 and 8
10 × 4 – 6 ÷ 2 + 8

= 10 × 4 – 3 + 8

= 40 – 3 + 8 = 45

12.(a)

R  S  Q  C  P  E  D

13. (d) (6, 20, 26)

 (6 × 3) + 2 = 20

 20 + 6 = 26

(4, 14, 20)

 (4 × 3) + 2 = 14

 14 + 6 = 20

Similarly,

(5, 17, 23)

 (5 × 3) + 2= 17

 17 + 6 = 23

14. (b)11 Cycles are not pedals.

15. (b) P   R   I   N   T   S

Q  R   L   H   Q   O
–2 –2 –2 –1 –1 –1

Similarly,

S   T   R   I   C   T

R  A   G   Q   S   R
–2 –2 –2 –1 –1 –1

16. (d)9 –810   (9)2 = 81 ×  (9 + 1 )
= 810

11 –1452   (11)2  = 121 × (11
+ 1)  = 1452

7 – 392   (7)2 = 49 × (7+1)

= 392

But,

13 – 2368  (13)2 =169 × (13 +

1) = 2366  2368

17. (b)13@2#5=10,    43#9@16=50

 13 + 2 – 5  43 – 9 + 16

 15 – 5  59 – 9

 10  50

Similarly,  8@6#3

       =   8 + 6 – 3 = 11

18. (a)

19. (c) Lucknow is the capital of UP.
Similarly, Kolkata is the capital
of West Bengal.

20. (b)Other than Karachi, every
city is the capital of respective
countries.

21. (d)

22. (c)
6, 6, 9, 18, 45, 135

×1 ×1.5 ×2 ×2.5 ×3

23. (c) 319 : 552   319 + 233 =
552

146 : 379 146 + 233 = 379

Similarly,

? : 774 774 – 233 = 541

24. (b)

25. (b)There are 26 quadrilaterals.S

B-GENERAL AWARENESS
26. (a) The earliest known copper

plate land grant in India is
from the Satavahana period,
issued by Gautamiputra
Satakarni. This practice later
became widespread in Indian

kingdoms./Hkkjr esa lcls iqjkuk
Hkwfe vuqnku rkezi=k lkrokgu 'kkld
xkSrehiq=k 'kkrdf.kZ }kjk tkjh fd;k x;k
FkkA ckn esa ;g çFkk vU; jkT;ksa esa Hkh
çpfyr gqbZA

27. (b) India’s first commercial flight
took place in 1911, between
Allahabad (now Prayagraj)
and Naini. It was flown by
French pilot Henri Pequet,
who covered about 10 km
carrying around 6,500 letters
using a Humber biplane.
This marked the beginning of
airmail service in India.
India’s first international
flight was launched later in

December 1912./Hkkjr dh igyh
O;kolkf;d mM+ku 1911 esa bykgkckn
(vc ç;kxjkt) ls uSuh ds chp gqbZ
FkhA bls Úkalhlh ik;yV gsujh fidsV
us mM+k;k Fkk] ftUgksaus gacj ckbIysu ls
yxHkx 10 fdyksehVj dh nwjh r;
djrs gq, djhc 6]500 i=k igq¡pk,A
;g Hkkjr esa ok;q Mkd lsok dh 'kq#vkr
FkhA Hkkjr dh igyh varjkZ"Vªh; mM+ku
ckn esa fnlacj 1912 esa 'kq: gqbZ FkhA
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28. (c) The 61st Constitutional
Amendment Act, 1988
reduced the voting age in
India from 21 to 18 years./

61oka lafo/ku la'kks/u (1988) ds
rgr Hkkjr esa ernku dh vk;q 21 ls
?kVkdj 18 o"kZ dj nh xbZ FkhA

29. (b)Zain-ul-Abidin was the
eighth Sultan of the Shah
Mir dynasty of Kashmir,
ruling from 1420 to 1470 CE.
Known for his liberal
religious policies and
promotion of literature, art,
and architecture, he earned
the title “Akbar of Kashmir”.
Due to his effective
administrative control, he
was also referred to as the
Alauddin Khilji of Kashmir./

tSuqy vkcsnhu d'ehj ds 'kkg ehj
oa'k dk vkBoka lqYrku Fkk] ftlus 1420
ls 1470 bZ- rd 'kklu fd;kA mldh
mnkj /kfeZd uhfr vkSj lkfgR;] dyk
o okLrqdyk ds laj{k.k ds fy, mls
^d'ehj dk vdcj* dgk tkrk gSA
ç'kklfud fu;a=k.k vkSj n{krk ds fy,
og ̂ d'ehj dk vykmíhu f•Yth* Hkh
dgyk;kA

30. (b)The Kigali Amendment
(2016) to the Montreal
Protocol aims to phase down
hydrofluorocarbons (HFCs),
which are potent greenhouse
gases and harm the ozone

layer./ekWfUVª;y çksVksdkWy esa fdxkyh
l a ' k k s /u (2016) dk mí s ';
gkbMªksÝyksjksdkcZu (,p,iQlh) dks
pj.kc¼ rjhds ls de djuk gS] tks
'kfDr'kkyh xzhugkml xSlsa gSa vkSj vkstksu
ijr dks uqdlku igqapkrh gSaA

31. (b)The Meghalaya Plateau is
divided into three main hill
regions: the Garo Hills, Khasi
Hills, and Jaintia Hills. It is
part of the larger Peninsular
Plateau of India and is
considered an extension of
the Anglong Plateau and
Meghalaya Plateau. The
Nilgiri Hills, on the other
hand, are located at the
junction of Tamil Nadu and

Karnataka./es?kky; iBkj dks rhu
Hkkxksa esa foHkkftr fd;k x;k gS: xkjks
igkfM+;ka] •klh igkfM+;ka] vkSj t;afr;k
igkfM+;kaA ;g iBkj Hkkjrh; çk;}hih;
iBkj dk fgLlk gS vkSj bls vkaxyksax
iBkj rFkk es?kky; iBkj ds foLrkj ds
:i esa ns•k tkrk gSA ogha] uhyfxjh
igkfM+;k¡ Hkkjr ds rfeyukMq vkSj dukZVd
dh lhek ij fLFkr gSaA

32. (b)The Narmada river originates
from Amarkantak in Madhya

Pradesh./ueZnk unh eè; çns'k ds
vejdaVd ls fudyrh gSA

33. (a) The Preamble declares India
to be a Sovereign, Socialist,
Secular, Democratic
Republic. The term
"Republic" signifies that the
head of the state is elected,
not a hereditary monarch. In
India, the President is the
elected head of the state,
representing this republican
principle under the
parliamentary system./

mísf'kdk Hkkjr dks ,d laçHkq] lektoknh]
/eZfujis{k] yksdrkaf=kd x.kjkT; ?kksf"kr
djrh gSA ^x.kjkT;* 'kCn dk vFkZ gS
fd jkT; dk çeq• turk }kjk pquk
tkrk gS] u fd oa'kkuqxr jktk gksrk gSA
Hkkjr esa jk"Vªifr ,d fuokZfpr çeq•
gksrk gS] tks bl x.kjkT; fl¼kar dk
çrhd gS vkSj lalnh; ç.kkyh ds varxZr
dk;Z djrk gSA

34. (c) Foods high in salt (sodium)
increase blood pressure by
retaining water, increasing
blood volume. Sugar and
saturated/trans fats
contribute to hypertension
via insulin resistance and
arterial stiffness. High-
protein foods (e.g., lean meat)
and high-fibre foods (e.g.,
vegetables) generally do not
raise blood pressure, and
low-salt/sugar foods help

maintain healthy levels./ued
(lksfM;e) ;qDr Hkkstu ty çfr/kj.k
ds dkj.k jDrpki c<+krk gS] ftlls
jDr dh ek=kk c<+rh gSA phuh vkSj

lar`Ir@Vªkal olk balqfyu çfrjks/ vkSj
/euh dBksjrk ds ekè;e ls mPp
jDrpki esa ;ksxnku djrs gSaA mPp çksVhu
(tSls] de olk okyk ekal) vkSj mPp
iQkbcj (tSls] lfCt;k¡) Hkkstu lkekU;r%
jDrpki ugha c<+krs] vkSj de ued@phuh
Hkkstu LoLFk Lrj cuk, j•rk gSA

35. (a) Bioaccumulation refers to
the gradual accumulation of
pollutants or toxic
substances like pesticides or
heavy metals in an organism.
These pollutants enter
through food, water, or air
and build up over time, often
faster than the body can
eliminate them. It explains
how pollutants first enter the
food chain, often at the

lowest trophic levels./tSolap;u
(Bioaccumulation) og çfØ;k
gS ftlesa dhVuk'kdksa ;k Hkkjh /krqvksa
tSls fo"kSys inkFkZ fdlh tho ds 'kjhj
esa /hjs&/hjs tek gksrs tkrs gSaA ;s çnw"kd
Hkkstu] ty ;k ok;q ds ekè;e ls 'kjhj
esa ços'k djrs gSa vkSj /hjs&èkhjs ,df=kr
gks tkrs gSa] D;ksafd 'kjhj mUgsa tYnh
fudky ugha ikrkA ;g çfØ;k ;g n'kkZrh
gS fd çnw"kd lcls igys •k| J̀a•yk
esa dSls ços'k djrs gSaA

36. (c) SDG 13 focuses on urgent
action to combat climate
change and its impacts

globally./lrr fodkl y{; 13
tyok;q ifjorZu ls fuiVus ds fy,
rRdky dkjZokbZ ij dsafær gSA

37. (a) Kerala is known as the “Land
of Spices” and leads India in

spice production./dsjy dks
'elkyksa dh Hkwfe' dgk tkrk gS vkSj
;g Hkkjr esa elkyksa dk lcls cM+k
mRiknd gSA

38. (b)Treasury Bills are short-term
government securities (less
than 1 year) used in the
money market to manage

liquidity./Vªstjh fcy vYidkfyd
ljdkjh çfrHkwfr;ka (1 o"kZ ls de) gSa]
tks euh ekdZsV esa rjyrk çca/u ds
fy, mi;ksx dh tkrh gSaA
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39. (c) Purchasing Power Parity
(PPP) is a method used to
compare the economic
productivity and standards
of living between countries.
It adjusts GDP or income
levels by accounting for the
differences in price levels of
goods and services across
countries, so that the same
amount of money can buy
the same basket of goods in

any country./Ø; 'kfDr lerk
(PPP) ,d i¼fr gS tks fofHkUu ns'kksa
dh vkfFkZd mRikndrk vkSj thou Lrj
dh rqyuk ds fy, mi;ksx dh tkrh gSA
;g ns'kksa dh GDP ;k vk; Lrjksa dks
bl vk/kj ij lek;ksftr djrh gS fd
çR;sd ns'k esa oLrqvksa vkSj lsokvksa dh
dhersa dSlh gSa] rkfd ,d gh jkf'k
lHkh ns'kksa esa ,d tSls lkeku •jhn
ldsA

40. (a) Mission Karmayogi aims to
enhance the skills and
capabilities of government

employees./fe'ku deZ;ksxh ljdkjh
deZpkfj;ksa dh n{krk vkSj {kerk c<+kus
dk dk;ZØe gSA

41. (a) The Attorney General of India
is the chief legal advisor to
the Government of India.
Appointed under Article 76 of
the Constitution, the
Attorney General advises the
government on legal matters
and appears on its behalf in
the Supreme Court and other

courts./Hkkjr dk egkU;k;oknh dsaæ
ljdkj dk eq[; fof/d lykgdkj
gksrk gSA bldh fu;qfDr lafo/ku ds
vuqPNsn 76 ds rgr gksrh gSA bldk
eq[; dk;Z Hkkjr ljdkj dks dkuwuh
ekeyksa ij lykg nsuk rFkk lqçhe dksVZ
o vU; vnkyrksa esa ljdkj dh vksj ls
is'k gksuk gSA

42. (c) 2023 was declared as the
International Year of Millets
by the UN to promote millet
cultivation and

consumption./la;qDr jk"Vª }kjk
2023 dks varjkZ"Vªh; feysV o"kZ

( International Year of

Millets) ?kksf"kr fd;k x;k Fkk] rkfd
feysV (eksVs vukt) dh •srh vkSj
miHkksx dks c<+kok fn;k tk ldsA

43. (a) The Gaganyaan Mission is
India’s first manned space
mission, being developed by
ISRO. It aims to send Indian
astronauts (Gagannauts)
into low Earth orbit (LEO) for
up to 3 days, and bring them
safely back to Earth. The
mission represents a major
milestone in India's space

capabilities./xxu;ku fe'ku Hkkjr
dk igyk ekuo varfj{k fe'ku gS] ftls
bljks (ISRO) }kjk fodflr fd;k
tk jgk gSA bldk mís'; Hkkjrh; varfj{k
;kf=k;ksa (xxu;kuoh) dks fupyh i`Foh
d{kk (LEO) esa 3 fnuksa rd Hkstuk
vkSj mUgsa lqjf{kr okil ykuk gSA ;g
Hkkjr dh varfj{k {kerkvksa esa ,d
,sfrgkfld dne gSA

44. (b)Ozone formation in the
atmosphere is a
photochemical process,
primarily occurring in the
stratosphere. When
ultraviolet (UV) rays from the
sun strike oxygen molecules
(O

2
), they split into individual

oxygen atoms. These atoms
then combine with other O

2

molecules to form ozone (O
3
).

This reaction is driven by
sunlight, hence the term

photochemical./ok;qeaMy es a
vkstksu dk fuekZ.k ,d çdk'k&jklk;fud
çfØ;k gS] tks eq[;r% lerki eaMy
esa gksrh gSA tc lw;Z ls vkus okyh
ijkcSaxuh (UV) fdj.ksa vkWDlhtu v.kq
(O

2
) ij çHkko Mkyrh gSa] rks os mls

,dy vkWDlhtu ijek.kqvksa esa foHkkftr
dj nsrh gSaA ;s ijek.kq vU; O

2
 v.kqvksa

ls feydj vkstksu (O
3
) cukrs gSaA

pwafd ;g çfØ;k lw;Z ds çdk'k ij
fuH k Z j djrh g S ]  blfy, bl s
çdk'k&jklk;fud çfØ;k dgk tkrk
gSA

45. (a) Geeta Phogat won India’s
first-ever women’s wrestling

medal at the Asian Games in

2010./xhrk iQksxkV us 2010 esa ,f'k;kbZ
•syksa esa Hkkjr ds fy, igyh efgyk
dq'rh ind thrkA

46. (b)The National Green
Hydrogen Mission, approved
in January 2023, has set a
target of reaching 5 million
metric tonnes (MMT) of green
hydrogen production per
year by 2030. This target is
part of a broader strategy to
develop a renewable energy
capacity of around 125 GW,
attract significant
investments, generate
employment, and reduce

reliance on fossil fuels./jk"Vªh;
xzhu gkbMªkstu fe'ku] ftls tuojh 2023
esa eatwjh nh xbZ Fkh] dk y{; 2030
rd okf"kZd xzhu gkbMªkstu dk mRiknu
5 fefy;u eSfVªd Vu (MMT) rd
ys tkuk gSA bl fe'ku ds rgr yxHkx
125 GW uohdj.kh; ÅtkZ la;a=k
fodflr djuk] cM+s fuos'k vkdf"kZr
djuk] jkstxkj lt̀u] vkSj thok'e bZaèku
ij fuHkZjrk de djuk 'kkfey gSA

47. (b)The National Quantum
Mission (NQM), approved by
the Union Cabinet on 19
April 2023, will be
implemented by the
Department of Science &
Technology (DST), which
operates under the Ministry
of Science & Technology. Its
goal is to foster scientific and
industrial research &
development in quantum
technologies across India
from 2023–24 to 2030–31./

jk"Vªh; DokaVe fe'ku] ftls 19 vçSy
2023 dks dsaæh; eaf=keaMy us eatwjh nh
Fkh] dks foKku ,oa çkS|ksfxdh ea=kky;
ds varxZr vkus okys foKku vkSj
çkS|ksfxdh foHkkx (DST) }kjk ykxw
fd;k tk,xkA ;g fe'ku 2023–24

to 2030–31 rd pyus okyk gS
vkSj bldk mís'; iwjs Hkkjr esa DokaVe
çkS|ksfxfd;ksa esa oSKkfud ,oa vkS|ksfxd
R&D dks c<+kok nsuk gSA
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48. (a) The One Health approach,
promoted by the World
Health Organization (WHO),
recognises that the health of
humans, animals, and the
environment are closely
connected. It is especially
relevant in preventing and
responding to zoonotic
diseases (like COVID-19),
antimicrobial resistance, and
ensuring sustainable health
systems across all species./

'ou gsYFk' ǹf"Vdks.k] ftls fo'o LokLF;
laxBu (WHO) c<+kok nsrk gS] ;g
ekurk gS fd ekuo] i'kq vkSj i;kZoj.k
dk LokLF; vkil esa xgjkbZ ls tqM+k
gqvk gSA ;g n`f"Vdks.k fo'ks"k :i ls
twuksfVd jksxksa (tSls COVID-19)]
,aVhekbØksfc;y jsflLVsal] vkSj LFkk;h
LokLF; ç.kkyh ds fy, vR;ar egRoiw.kZ
gSA

49. (b)The Bharat 6G Vision
document was released in
March 2023 by the
Department of
Telecommunications (DoT)
under the Ministry of
Communications. It outlines
India's roadmap for
designing, developing, and
deploying 6G network
technologies by 2030,
including establishing
testbeds and the Bharat 6G

Alliance./lapkj ea=kky; ds varxZr
nwjlapkj foHkkx (DoT) }kjk ekpZ 2023
esa Hkkjr 6G fotu nLrkost tkjh fd;k
x;k FkkA ;g 2030 rd 6G usVodZ
rduhdksa ds fMtkbu] fodkl vkSj
ifjfu;kstu ds fy, Hkkjr ds jksMeSi
dh :ijs•k çLrqr djrk gS] ftlesa
VsLVcsM vkSj Hkkjr 6G vyk;al dh
LFkkiuk Hkh 'kkfey gSA

50. (c) The Nobel Prize for 2025 in
Physiology or Medicine was
awarded to Mary E.
Brunkow, Fred Ramsdell,
and Shimon Sakaguchi “for
their discoveries concerning
peripheral immune
tolerance,” as announced by
the Royal Swedish Academy

of Sciences on October 6,

2025./2025 dk fiQft;ksykWth ;k
fpfdRlk dk ukscsy iqjLdkj eSjh bZ-
C#udks] ÚsM jkElMsy vkSj f'keksu
lkdkx qph dk s "ifj/h; çfrj{kk
lgu'khyrk ds laca/ esa mudh •kstksa"
ds fy, 6 vDVwcj 2025 dks jkW;y
LohfM'k ,dsMeh vkWiQ lkbalst }kjk
çnku fd;k x;kA

C - QUANTITATIVE APTITUDE

51. (c) tanA =
3

7
 Or, cotA = 

7

3

CosecA = 21+cot A

Or, cosecA = 
49

1
9



cosecA =
58

9

cosecA =
58

3

52. (a) Let, speed of man = S m/s

Speed of train = 8S m/s

ATQ,

 
1800

8S S = 10

Or, 
1800

90
= S

Or, S = 20

Speed of train = 20 × 8 ×
18

5

km/h

= 576 km/h

53. (d)Distance of chord RS from
centre = 20 cm

Half of length of chord =
30

2
cm

= 15
cm

Radius =    
2 2

15 20 cm

= 25

 Diameter = (25 × 2) cm

= 50
cm

54.(c) Total sales of branches B2,
B4, B6, in year 2001 = 65 +

95 + 80 = 240

Average sales =
240

3
= 80

Total sales of branches B1, B3,
B5 in year 2001 = 105 + 110
+ 95 = 310

Average sales =
310

3

 % of average sales by B
2
, B

4
,

B
6
 to average sales by B

1
, B

3
,

B
5
.

= 
80 3

310


× 100

= 77.41%

55. (b)
   

3 3

2 2

17 – 7

17 7 k 
= 10

Or, 
       

2 2

2 2

17–7 17 + 7 + 17×7

17 +7 +k

 
 

Or, 10 (289 + 49 + 119) =
2890+490 + 10k

k = 119

56. (d)42 –32 + 62 – 52 + 82 – 72

+...........+922 – 912

= 7 + 11 + 15 + 19 + ..... +183

Ist term (a) = 7

Difference (d) = 4

Last term t
n 
= 183

Number of terms = n (say)

We know

Last term t
n 
= a + (n – 1) d

Or, 183 = 7 + (n – 1) 4

Or,  n = 45

Sum of nth term,

S
n
 = [2a + (n – 1) d]

n

2

[2 × 7 + (45 – 1)4] ×
45

2

= 4275

57. (a)Ratio of share of P and Q + R
= 4 : 7 (4 +7 = 11 × 7)

= 28 : 49

Ratio of share of Q and P + R =
2 : 5 (2 + 5) = 7 × 11

= 22 : 55

P : Q : R

= 28 : 22 : 27

 Share of R =
27

77
×43120

= 27 × 560  15120
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58. (b)Number of girls in school A
= 200

Number of girls in school F =
100

% of number of girls in A to
the number of girls in school

F =
200

100
×100 = 200%

59. (a)Ratio of cost price and
marked price = 100 : 120

–12
108

Profit = 108 – 100 = 8

 Profit % = 
8

100
×100 = 8%

60. (c) Let, the side of the converted
cube = l cm

Volume of big cube = 63 + 83 +
103 = 1728

ATQ, l3 = 1728

Or, l3 = (12)3

l = 12

Side of converted cube = 12
cm

61. (b)Let, marks obtained by X =
a

Marks obtained by Y = b

Sum of marks obtained by X
and Y = a + b.

Average of marks =
a+b

2

ATQ, 
a+b

2
+ 35 = 

85+b

2

a + b + 70 = 85 + b

a = 15

Marks obtained by x is 15.

62. (b)The ratio of cost price and
selling price of P and Q
respectively = 100 : 130

The ratio of cost price and
selling price of Q and R
respectively = 130 : 156

 Ratio of cost price of P and R
= 100 : 156

 = 25 : 39

63. (b) Interest earned = 13200 –
12000 = 1200

Simple interest-

SI = 12000×
R

100
×2

R =
1200 100

2400



R = 5

For double interest

SI = 12000×
10

100
×2

SI = 2400

Amount = 12000 + 2400

= 14400

64. (d)
tanθ – secθ +1

tanθ + secθ –1

If we consider = 45°

= 
1– 2 1

1 2 –1






2 – 2

2
= 2 –1

Now, from options, we will get

= 
cosθ

1 sinθ

65. (d)A =
18 9 4

15 3 5

 

 


2 4

5 5






8

25

B =
18 36 3 5 1– 6

18 6 20 – 3 4 12

   

   

B = 
3

2 5 1– 6

3 20 – 3 4 12

 

  

B = 
3

2 5 – 6

60 –12 12





B = 

3 10 –12

2
60




1

120

Now,

A + B

= 
8

25
+

1

120
 

 8 24 25

600

 

= 
197

600

66. (c) Ratio of income, expenditure
and savings

= 100 : 50 :
50

 


   110 55
55

Increased savings = 55 – 50
= 5

 Increased % = 
5

50
×100 =

10%

67. (a)We know, for two identical
circles intersect each other
such that each passes
through the centre of each
other,

Length of chord = 3 × radius

Or, Radius = 16

Radius of each circle 16 cm.

68. (d) A = 10

B = 20

C = 30

60

6

3

2
11

A Earns =
6

11
×1100 = 600

B earns = 
3

11
×1100 = 300

C earns = 
2

11
×1100 = 200

Earnings of A and C exceeds
from earnings of B = 600 +
200  – 300 = 500

69. (c) Total number of girls in
school G, H, I = 700 + 1300
+ 800 = 2800

Total number of girls in school
J, K, L, M

= 1100 + 900 + 500 + 400

= 2900

Difference between them =
2900 – 2800

= 100

70. (d)
cot60 – cot30

1 cot60 cot30

 

  

=

1
– 3

3
1 1

–
1

3

71. (d)ATQ,

100% 4000

1%  40

17%  680

4000 makes angle 360°

680 makes angle =
360

4000


×680

= 62.2

72. (a)As the angle subtended by a

chord AB on the
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circumference is 90°.

So the chord is the diameter
of the circle.

 Length of diameter = 2 × 8

cm  16 cm

73. (d)We know the centroid divides
median in 2 : 1.

UET

S

15
7.5

16

O
8

F

17 17

ATQ,

For TF

2 + 1 unit 22.5

1 unit 
22.5

3

1 unit  7.5

For SE

2 + 1  24

1 8

For TOE, 8, 15, 17 forms
triplet

TOE is right angle triangle.

SoTOE = 90°

74. (c)  
1

6125 ,  
1

311 ,  
1

612 ,  
1

45

Multiply the power of each term

with LCM of 6, 3, 6, 4.

  
12

6125 ,  
12

311 ,  
12

612 ,  
12

45

(125)2, (11)2, (12)2 (5)2

Largest is  
1

6125

75. (b)a +
1

a
= 4

Squaring both sides.

a2 + 2

1

a
= (d)2 – 2 = 14

Again squaring both sides

a4 + 4

1

a
= (14)2 – 2 = 194

D-ENGLISH COMPREHENSION
76. (b) “has a finger in every pie”

(gj dke esa 'kkfey gksuk). It

means being involved in

many different activities or
projects at the same time.

77. (a) Panoramic  – wide and

extensive view (foLr ` r) .

Similar to Extensive means

covering a large area (foLr̀r).

Patchy – irregular or uneven

(v/wjk).

Circumscribed – restricted

within limits (lhfer).

Precise – exact and accurate

(lVhd).

78. (d)Correct order is BDAC.
B: Introduces the topic – Kalki

is the last avatar of Lord
Vishnu.

D: Describes the situation and

action – Vishnu will appear
when evil overpowers good.

A: States the result – He will

remove darkness and begin
a new era.

C: Concludes – This avatar is

yet to come.

79. (a) (1) painting (fp=kdyk) ’

Refers to the artwork that

displays delicate strokes and
bold colours.

(2) composition (fp=k'kkyk) ’

Describes the captivating
arrangement of elements
within the painting.

(3)gallery (lajpuk)  Refers to

the place where the painting
is displayed.

80. (b)“solved the murder

mystery” uses the Simple
Past Tense (active voice),
which is perfect here

because it describes a
completed action
performed by the detective at

a specific time in the past
— indicated by “within a
week.”

81. (b)preposition off is used to
indicate movement away
from or separation from a

surface, vehicle, or animal.
82. (c) Avarice – extreme greed for

wealth or material gain

(yk s H k) .  Opposite is

Charitable – generous and

willing to give to others

(n;kyq@mnkj).
Lust – intense desire

(okluk).
Grief – deep sorrow ('kksd).
Penury – extreme poverty

(nfjærk).
83. (b)correct correlative pair is

“so… that..”
…………….so tired and
weak that she could
scarcely walk.

84. (c) When the reporting verb
'asked' is in the past tense,
the tense in the reported
clause also shifts to the past
to maintain consistency
with tense.
It should be : where my
hometown was.”

85. (a) The verb “go” is incorrect.
It should be in the present
tense form “went” to
match the past tense “tried”.

86. (a) The correct spelling is

Delinquency (vijk/@fd'kksj
vijk/), which means minor

crime or wrongful
behaviour, especially by
young people.

87. (c) Candour – being honest and

straightforward (bZekunkjh).
Similar to Honesty –
truthfulness and integrity

(lR;fu"Bk).
Will – determination or

resolve (bPNk'kfDr).
Resolution – firmness of

purpose (n`<+ladYi).
Power – ability or strength

to act ('kfDr).
88. (b)“a sight to behold” means

something very beautiful
or impressive, worth
looking at /pleasant to see.

89. (b)Dishearten – to cause
someone to lose confidence

or hope (fuj k' k dju k) .
Opposite is Encouraged – to
give confidence, support, or

hope (çksRlkfgr fd;k).
Pieces – individual works or

parts (VqdM+s).
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Greatest – of the highest

quality or degree (Js"B).
Inspired – motivated or
stimulated to do something

creative (çsfjr).
90. (b)Exert – to put in effort or

work hard (ifjJe djuk @
'kfDr yxkuk). Opposite is

Relax – to rest or take it easy

(vkjke djuk @ esgur u djuk).
Emerge – to come out or

appear (çdV gksuk).
Stress – pressure or tension

(ruko).
Crouch – to bend down or

squat (>qduk @ >qddj cSBuk).
91. (a)Amenities (lqfo/k,¡) are

convenient features
provided by a society,
company, or place to make
life comfortable.

92. (a)D: Explains the need for
planning – Without a plan,
one can get side-tracked and
lose focus.

E: Adds a quality – A good plan
should be flexible and
adaptable.

B: Describes the process –
Planning involves setting
clear goals and identifying
necessary steps.

A: Details the nature of goals –
They should be SMART
(Specific, Measurable,

Achievable, Relevant, and
Time-bound).

C: Concludes with the action –
Once goals are clear, one can
create a plan to achieve
them.

93. (b) Pretentious (fn•koVh @
fn•ko s  o kyk) describes

someone who tries to
appear more important,
knowledgeable, or valuable
than they really are, often
by making exaggerated
claims or showing off.

94. (a) Active Voice Structure:
Subject + is/are + verb-ing
+ Object

         The police is interrogating the
peons of my school.
Passive Voice Structure:
Object (becomes subject) +
is/are being + past participle
+ by + Subject (Agent)
The peons of my school are
being interrogated by the
police.

95. (d)“skating on thin ice”
means being in a risky or
dangerous situation,
especially one where a
mistake could lead to serious

trouble (•rjs ;k tksf•e dh
fLFkfr esa gksuk).
Sentence 4 describe a risky
situation caused by a
controversial statement.

96. (a)
97. (d)
98. (b)
99. (b)
100.(a)

ANSWER KEY

1. (d)

2. (b)

3. (b)

4. (c)

5. (a)

6. (d)

7. (a)

8. (b)

9. (c)

10. (a)

11. (d)

12. (a)

13. (d)

14. (b)

15. (b)

16. (d)

17. (b)

18. (a)

19. (c)

20.  (b

21. (d)

22. (c)

23. (c)

24. (b)

25. (b)

26. (a)

27. (b)

28. (c)

29. (b)

30. (b)

31. (b)

32. (b)

33. (a)

34. (c)

35. (a)

36. (c)

37. (a)

38. (b)

39. (c)

40. (a)

41. (a)

42. (c)

43. (a)

44. (b)

45. (a)

46. (b)

47. (b)

48. (a)

49. (b)

50. (c)

51. (c)

52. (a)

53. (d)

54. (c)

55. (b)

56. (d)

57. (a)

58. (b)

59. (a)

60. (c)

61. (b)

62. (b)

63. (b)

64. (d)

65. (d)

66. (c)

67. (a)

68. (d)

69. (c)

70. (d)

71. (d)

72. (a)

73. (d)

74. (c)

75. (b)

76. (b)

77. (a)

78. (d)

79. (a)

80. (b)

81. (b)

82. (c)

83. (b)

84. (c)

85. (a)

86. (a)

87. (c)

88. (b)

89. (b)

90. (b)

91. (a)

92. (a)

93. (b)

94. (a)

95. (d)

96. (a)

97. (d)

98. (b)

99. (b)

100.(a)


